| L2 COMPUTE time per input event Entries 922013 rate of COMPUTE | Entries 922013
x10 Mean 3.483 - Mean 986.9

§2) - . N [

g H : RMS 1.458 R (10 e T e R E e EE TR RMS 534.8

3 u T O Leeeenn Leeeenn eeenns 8 [

;400 E [ Underflow 0 © o Underflow 0
350 E L L S _ ____________________________ Overflow 9 >600 R (| /[ Y A TR R Overflow 0
010] . SRS S PO Y PP M 500
250 :'_ """"""" I Femmmeee E' """" Peeeeees HER e e 400 :_

200 r
300
150 — --------------------------------------------------------------------- C
! 200
100: ........................................................................ [
50 ....................................................................... 100 :_
O:IL_I_IiIIlilllilllilllilllillIiIIIiIII O_IIIiIIIilIIilIIilllilllilllilllilllilll
0 20 40 60 80 100 120 140 160 180 0 200 400 600 800 1000 1200 1400 1600 1800 2000
x: COMPUTE time (CPU KTics) x: time in this run (seconds)
total events. O=anylnput 10=anyAccept 11=normalAccept 12=rndAccept Entries 922013 | L2-et0w-calib: seen tokenS Entries 922013
Mean 05 Mean 2050
H 12}
O T B T L RMS 0 § RMS 1183
;| Underflow o] 93 Underflow 0
: >
Overflow [o] Overflow 0
250
10°
200
150
10*
100
10°
1 i 11 1 i 11 1 i 11 1 i 11 1 i 11 1 i 11 1 i 11 1 i 11 1 i 1
0 2 4 6 8 10 12 14 16 18 500 1000 1500 2000 2500 3000 3500 4000
Input: 0=compute. Anything else=Contact Expert x: token value
ETOW #tower w/ energy /event Entries 922013 #ETOW towers / event , Et>1.50 GeV Entries 922013

0 Mean 2.93 @

5 RMS 2826 E10° oo rrerenene Frrreerenes frorererenes froverenenes ‘IMean  0.5099

3 ] :

=10 Underflow 0 < :

overt o ‘|RMS 0.1016
vertlow ]_05 ----------------------------------------------------------
0 R
104 3 S
O = b i bbb bt Rt E
102 ............................................................
0] SR Rt R R R

0 10

Thu

20

30

Jul 3 00:00:39 2014

40 50 60 70 80 90

100
x: # ETOW towers

10

15

25

30

x: # ETOW towers




[ ETOW tower, Et>1.50 GeV (input) | Entries 9117
10? Mean 421.4
205.5
10
1
B PR B | IR i 3(;0 A L s RETEEETREEFELE IE P
x: ETOW softID=ip+60%in
[ ETOW tower, Et>1.50 GeV (input) | Entries 9117
10° Mean 0
RMS 0
768 768.1 768.2 768.3 768.4 768.5 768.6 768.7 768.8 768.9 769
x: ETOW softID=i@+60%*in
[ ETOW tower, Et>1.50 GeV (input) | Entries 9117
10° Mean 0
0

RMS

768.9 769
x: ETOW softID=i@+60%in

[ ETOW tower, Et>1.50 GeV (input) |

10?

Entries

9117

. 769
x: ETOW softID=i@+60%in







ETOW tower, Et>1.50 GeV (input)

| -
@]
o+
(&
(D)
7))
O
o
|_
l
=
O
=
o
>

I
o

12
X: eta bin, [+2,+1]
Thu Jul 3 00:00:39 2014




